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L. Four alternatives are gnen for each of the following questions / mcomplete
statements. Only one of them is correct or most appropriate. Choose the
correct alternative and write the complete answer along with its letter |
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1. The Government of India Act of 1935 is considered as an important

document, because it
(A) introduced bicameral governments in provinces
(B) appointed Board of conitrol

(C} formed separate electoral constituencies based on religion

(D) led to the creation of a federal Structure in the country.

2. In Group-A list of social reformers and in Group-B their works are

& ?
given. Identify the group that matches, |
Group-A Group-B i
() Rammohan Roy (@) Ghulamgir
{b) Dayanand Saraswati (@} Samvada Kaumudi g
{c} Jyotiba Phule (I} New India
(d) Annie Besant (iv) Satyartha Prakasha. ]
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3. The programme implemented by Government of Karnataka for the .:
development of rural women is -
|

(A) Lok Ayukta (B) Stree Shakti

(C) Sakshara Bharat {D] Family planning programme.
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4. December 10th of 1948 is an important day in the history of UNO,

because on that day
{A) Human Rights were declared
(B) 'UNé was established
(C)  Disarmament was achieved
(D)  Racial discrimination was ended.
5. Article 24 of our constitution has a great significance, because it
prohibits
{A) Employing children for work

(B} Untouchability

(C) Dowry
(D) Corruption.

6. The exact matching of the marked River Valley projects is

.

{A} 1 — Nagarjuna Sagar, 2 — Bhakra Nangal, 3 — Kosi

(B} 1 -— Bhakra Nangal, 2 — Kosi, 3 — Nagarjuna Sagar

(C} 1 -— Kosi, 2 — Nagarjuna Sagar, 3 — Bhakra Nangal
{D} 1 — Nagarjuna Sagar, 2 — Kosi, 3 — Bhakra Nangal.

7. Coastal erosion is more severe along the coast of the state

(A} Kerala (B) Tamil Nadu

{C} Orissa West Bengal.

(D)
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8. Father of Ecagmz;ﬁic Planning in India is
{A) Dr. M.S. Swaminathan (B) Dr. Norman Borlaug
(C} Sir M. Vishveswaraiah (D) Rammohan Roy.
9. Green Revolution indicates
(A} the increase in the production of foadgrains
(B} the increase in the production of fish
{C} the increase in the production of milk
{D} the increase in the production of meat.
10. The Chairman of Wipro Technologies is
(A) Ekta Kapoor (B) Dhirubhai Ambani
(C} Naresh Goyal (D}  Azim Premji.
II. Answer the following questions in a sentence each : 14 x1=14
11. Indians had given much importance to folk history. Why ?
12. Why did Swami Vivekananda establish Ramakrishna Mission ?
13. Russians rose in rebellion in 1905 against the Tsars. Why ?
14. How does racial discrimination adversely affect world peace and
peaceful co-existence ?
15. Who fought against the racial discrimination in Africa ?
16. Why was the Equal Wages Act passed ?
17. Why was the TRehabilitation Welfare Fund of Child Labourers’
launched ?
18. In North India, temperature will be high during summer season.
Why ?
19. How can be fallow land utilized for agriculture ?
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